EXAM C QUESTIONS OF THE WEEK

S. Broverman, 2005

Question 14 - Week of October 24

Y ou are given the following 3 data points:
T: 0 1 2
Y 1 2 0
Find the natural cubic spline for the data points.

Find f;(0) and f{(2) for thisspline.

The solution can be found below.



Question 14 Solution

Use homg + 2(hg + h1)my + hymse = 6[—‘1/2};‘1“ — —y]};JyU] and

- . ijrlfyj hj(2mj+mj+]) _omy _ M1 —m;
aj =yj, bj= =5~ — =% , ¢ =5 and dj = =g

For the natural spline my =my =0 - 2(1 + 1)m; = 6[%2 — & 5> my = — 3.
Y1—Y ho(2mo+m —9/2 7 1
Then ag =y =1, by = hoo_ o(g 1):1—(6/)21,60:%:081’1(1
_omyg—mg . —9/2 3
do = "0 = — = —3.and
Y2y hi(2mi+m 0—2 -9 1 9
=y =2, b= o Rl S 02 LR g e == and

o
=R
—

&
N—r

Il

|
DN |—

|
[\l Ne)
~—~~

8

|

—
N—r

_|_
ENe)
—~

8

|

—_

N—
o

—

=0
2
s
—_~
S
SN—

Il

|
DO =

|
N|©

+

SN Ne]
Il
|
==



